Y

Balancing Equations

Name:

The scales shown are balanced. Deter mine which number sentence must be true.

1) Z QW+F

p — j
AW =272 - F
BW =2+ F
CW =F - Z
DW = F + Z

3) ? g ?-?

—
A a =72+ 7
B.a = ? - 7
C.A =2+ 7°?
D.A =2 -7?

5) ? @?+?

—
Ay = Ao -2
By =2 + 4
Cy =7 - A
D.v = 4o + ?

7 ? -7

— 9
A2 =9 + a
B.? = v - A
C?= A -9
D.?7 = A + A

) 2-2 @ ?

p — j
A0 = v + v
B.O = ¢ + ?
CoO =7?2-v
D.O = v - ?

4d 2497 ?
).I.Eﬂ :

—
A2 =0 - A
B.? = A + 0
C? =0+ A
D.? = A - ¢

6 2-2 g ?

—
A? = & -0
B.?2 =0 + ¢
C?= 4 +9
D.? = 0 - A

? ? ?

— 9
A.O = v + ?
B.O = 2?2 + @
CoO =199 -7
D.O = 2?2 - @

Answers
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Balancing Equations

Name:

Answer Key

The scales shown are balanced. Deter mine which number sentence must be true.

1) Z QW+F

p — j
AW =272 - F
BW =2+ F
CW =F - Z
DW = F + Z

3) ? g ?-?

—
A a =72+ 7
B.a = ? - 7
C.A =2+ 7°?
D.A =2 -7?

5) ? @?+?

—
Ay = Ao -2
By =2 + 4
Cy =7 - a
D.v = 4o + ?

7 ? -7

— 9
A2 =9 + a
B.? = v - A
C.?2 = A - v
D.?7 = A + A

) 2-2 @ ?

p — j
A0 = v + v
B.O = ¢ + ?
Co =7?-v
D.O = v - ?

4d 2497 ?
).I.Eﬂ :

—
A2 =0 - A
B.? = A + 0
C? =0+ A
D.? = A - ¢

6 2-2 g ?

—
A? = & -0
B.?2 =0 + ¢
C?= 4 +9
D.? = 0 - A

? ? ?

— 9
A.O = v + ?
B.O = 2?2 + @
CoO =9 - ?
D.O = 2?2 - @

Answers
LA
2 B
5. A
s A
5 C
6. C
7. A
5. C
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